
G  x4

C  x2

BA C D G x8 E F  x4 H i  x4

H

B

E

F

A

G

i

C

D

60mm

60mm

Honley Rocking Chair Foot Fitting Instructions
1. Carefully place the chair (A) upside down, onto opened up packaging to protect both the fabric 

of the seat and floor.
2. Locate the hole stickers on the side of the chair (A) and align the top holes of the left rocker 

arm (B) to this. Loosely screw in 2x 60mm bolts (C) in these holes using the hex key (D) provided, 
to attach to chair. Do not tighten fully.

3. Insert dowels (G) into the holes at the ends of both rails. The longer rail (E) will be placed at the 
front of the chair and the shorter rail (F) will be placed towards the back. Please make sure the 
counter sunk holes face away from the base of the chair when fitting.

4. Insert rails (E) + (F) into fitted rocker arm (B) using dowels (G) and corresponding holes, ensure the 
counter sunk holes are on side shown. Loosely screw rails to arm (B) using 2x 60mm bolts (C).

5. Carefully turn chair (A) on its side and then once again align the other rocker base arm (H) with the 
stickered holes as in Step 2. Loosely attach using 2x 60mm bolts (C).

6. Insert the the rails (E) + (F) into this rocker arm (H) using the dowels (G) as in Step 4 and once 
again loosely screw in 2x 60mm bolts (C).

7. Revisit every loosely fitted bolt (C) and tighten using the hex key (D). Once all bolts (C) 
are tightened screw the rails to the base of the chair using 4x 60mm screws ( i ) into the counter 
sunk holes as shown.

8. Image of completed and fitted rocker base to chair.

A

SCREW IN BOLTS LOOSELY SCREW IN BOLTS LOOSELY

C  x2

60mm
D

B
A

INSERT DOWELS
INTO RAILS

SHORT
RAIL

LONG
RAIL

COUNTER-SUNK HOLES 
ON BOTTOM

F

E

G

F

E

INSERT DOWELS INTO
CORRESPONDING HOLES  

INSERT DOWELS INTO
CORRESPONDING HOLES  

COUNTERSUNK HOLES
THIS SIDE

COUNTERSUNK HOLES
THIS SIDE

60mm D

38414_0922_V1L

honley<15mx1



i  x4
60mm

ROCKER BASE ONCE FITTED. BOTTOM VIEW OF BASE ON CHAIR

FRONT

BACK

D

TIGHTEN ALL LOOSELY FITTED BOLTS USING HEX KEY
THE FINAL STEP IS TO SCREW 5x60mm SCREWS TO
BASE OF CHAIR - *CROSS HEAD SCREWDRIVER NEEDED

TIGHTEN ALL LOOSELY FITTED BOLTS USING HEX KEY
THE FINAL STEP IS TO SCREW 4x (i) 60mm SCREWS TO
BASE OF CHAIR - *CROSS HEAD SCREWDRIVER NEEDED

60mm

D

C  x2

60mm

D

C  x2

LOOSELY ATTACH OTHER ARM TO CHAIR

PLACE DOWELS IN
CORRESPONDING 
HOLES

E

F

H

Mamas & Papas, Huddersfield, HD5 0RH
Mamas & Papas, Dundrum, Dublin 16

UK

EU

Designed and distributed
by Mamas & Papas in the UK
© 2022 Mamas & Papas Ltd

mamasandpapas.com
mamasandpapas.ae

All rights reserved.
ARماماز و باباز هدرسفيلد، اتش دي 5 0 آر اتش

T: +44 (0)345 268 2000 هاتف:
PD:07092022v6




